PART - A / 4177 -

XA

GENERAL INTELLIGENCE & REASONING / @A sifiga« T8 AP
808
Directions : In question numbers 1 to 6, select the related | 10.  (A) 1331 (B) 191 © 200 @)
word/letters /number from the given alternatives.
Frder . v dem 14 6 4 e faspedi @ @ARIA YR/ | 11, (A) ERKU (B) PERU
&/ TE g (© OKHA (D) ANDI
L~  BLOCKED:YOLXPVW - :_? :OZFMMXS
(© LABOURS (D) DEBATES
. . . ‘ords as per order in the
2, Garbage : House : : Gangue : _ 2 j;:,;:;fr;he hollevanig: Wakds as P
(A) Factory (B) Office e & .
(© Drugs (D) Ore Frefefas wref 1 v & fag MY 9 & STTER
FEU :H ;o YT 2 fog :
(A) FREA (B) wHEi™ (@) Hale (b) Hake (©) Halt
© wy D) 3FH (d) Hamlet () Ham
(A) (b), (a), (), (e), (d) (B) (b), (), (e), (d), (a)
3.  FIG:EGHJFH::BIN: ? © (b),(a), (d), (). (e) D) (@), (c). (e), (b), (d)
(A) CAJHOM (B) CAHMOC
({© ACIHMO (D) ACHMO ¥, If the words are organised in reverse order of what
P they appear in dictionary, which word will come in
4 DBU:EEZ::CJH:_2? the third place ? -
Eé)) Vi ((g)) o afe vl %1 3 i e F v F o ¥ sEd 3o
S # At foha ST & fE ToH R A7 wee
5. 6:42::7:_? 1T ?
(A) 56 (B) 40 © 52 D) 48 (A) Occulist (B) Ordeum
6. 12:72::8:._7 (] Giiens () Odium
A) 40 32 36 38
*) ®) © ©) Directions : In question numbers 15 to 17, which one set of
Directions : In question numbers 7t0 12, find the odd word/ | 1etters/numbers when sequentially Placed at the gaps in
letters/number from the given alternatives. the given letter series shal]. comp.lete it?
frdor : o7 Wen 7@ 129, /U T fyeedt F 9§ fowg wegy | Frew: vE @En 159177, aaﬁ/maﬁmem_mw
3TeR/TE=AT T | @Wﬁmﬁmmt@ﬁ@ﬁﬂéawmaﬁ@m?
7. (A) MAYOR (B) LAWYER 15. SH_ELAS_EELA_HEELASHEE A
(O GOVERNOR (D) LEGISLATOR (A) EHSL B EEHS
(A) "R ®) FH (© HHSS (D) ELHA
(© TIad D) faurs
16. __aba__ba_ab
8. (A) ACUTE (B) RIGHT (A) bbaba (B) abbab
(© OBTUSE (D) PARALLEL (© abbbb ) baabb
(A) =1 (B) wH ,
© @frw (D) =R 177 12_41 _34123 _ 234
(A) 3212 (B) 2134
9. (A) 50 (B 120 (© 145 (D) 37 @ 3241 D) 1

K
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18.

20.

21.

Find the missing number.
W HE 91 Fifsuy
2,5,10,17,26, 2

(A) 36 B) 37

Q 47 D) 49

Introducing a man, a woman said “His mother g
the only daughter of my father”. How is the man
related to the women ?

(A) Father (B) Son

(O Uncle (D) Brother

T &0 1 9T FUd g O wieen | w7, ¢ guan
T B 1 geneltdt T R0 e Afeen | frg
YR Hafg 82
(A) fa@

© ==

® T
D)

If “air’ is called ‘green’, “green’ is called ‘blue’, ‘blue’
is called ‘sky’, ‘sky’ is called ‘yellow’, ‘yellow’ is
called ‘water’ and “water” is called ‘pink’ then what
is the colour of clear sky ?

(A) Blue (B) Sky

(© Yellow (D) Water

g ‘9’ = T W S, R S e et S,
B o A I = Rl o e 1 o b R B e M o
MY, “Hiet’ = COE Fw e SR U e
THEN T G AT AT 1 7 341 8 ?

(A) e (B) AR

(© e D) I

Find the number that is common for all of the clues
given below :

(a) Virgo

(b) Volley ball

(c) A highest scoring shot of a particular sport
(d) Extrasensory perceptions

4 feu Tu A Hhdl & fau 9 g 949y

(@ H

(b) Sictt S

(© Tavm War 1 gaifus i ura FT el i
(d) sfedar syfa

&) 4 ®) 8 © 2 D) 6

ba
N

23.

26"

From the given alternative words, select ‘thu w_‘md

which cannot be formed using the letters of the given

word . )

freifeifiad fasedl § @ 98 g 9T ST fag 1T wsg
; - & I

¥ 37eqd} T WA Hih ST A6l ol Yehdl |

‘BOOK BINDING'

(A) DIGGING

(© DINING

(B) BONDING
(D) DOING

Which of the following jumbled word is not an
animal ?

frfarfaa sreraftad el § @ FA-91 s Sl

Tel ®?
(A) LATHPEEN (B) TICRECK
(O FEFEOC (D) TAR

Name a single letter, which can be deleted from the
body of the following words to form entirely new
words ?

T WE A T v A F e Frefertad wedl § @
HH-TT Ueh 121 AT ST Tkl € 2

HOST POST COST LOST STOP

A O B 5 O T O P

Inacertain coding system, APPLE stands for ETTPL
What is the code for ‘DELHI’ ?

Tordit e =@ § APPLE I IS ETTPI® | “DELHT
1 RIS F1 8 ?
{A) COMND

(B) CQPLM
(O ZAHDE

(D) HIPLM

If CUSTOM is written as UCTSMO then how
PARENT be written in the same code ?

afg CUSTOM =i UCTSMO #iE ¥ foran wimn & &t

341 FIE § PARENT & 9 forar srom 2
(A) APERTN (B) RAPTNE
(O TNERAP (D) ERAPTN

In a certain code, FRACTION is written as
FNAITCOR. How is QUANTITATIVE written i,
that code ?

ferdt =l § FRACTION #1 FNAITCOR ¥ R
ﬁmm%aaﬁrmﬁQUANﬂTAmaﬁ%@
o s ?

(A) QIATAETUTNVI

(B) QTEATUIAVITN
(O QTNAVIAITETU

(D) QEAITATITNVU

SPACE FOR ROUGH WORK / T % & fordt smre
a-§ ~g—(S-Y-W —F
HELYT

mekao«‘: Laﬂ_"'b —A
sasbzgi%/P 3 ot &
= age A’PPL_G:
wd
iSL :t‘_i'k ETTF &
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29.

‘“—-‘

If "+" means ‘%', “—" means '+, "X’ meang ’ —’
and ’ =" means ‘' +’ then what will be the valye of
16+ 64 —8x4+2.

AT+ HIAA X/, BHR+7, X R
R+ FAF + TH16+ 64— 8X 4 +2 HI 77 =17
Bm?
(a) 18 ®) 12 © 24 D) 16
To identify the correct response from the given
premises stated according to following symbols.
’A’ stands for not less than (4)

‘B’ stands for not equal to (#)

‘C’ stands for not greater than (#)

‘D’ stands for greater than (>)

‘E’ stands for less than (<)

‘F’ stands for equal to (=)

Premises : 4YF3x and 3xF6Z

Frfefiad gl o SFER U e FuEl @ T8 sw
T BT |

‘AT I EH R @)

B 1 319 ' S R (7)
‘e ‘AT AR T (P

D E g ‘Aagr ()

‘Ea ad ‘aen T (<)

e e F e ¥ (=)

Y : 4YF3x 3R 3xF6Z

(A) 4YB5Z
(© 2YD3Z

(B) 2YF3Z
(D) 2YE3Z

Directions : In question numbers 30 to 34, select the missing
number from the given responses.

frdor : v wen 30 @ 34 7, fou U faswedi # A @ 3R

H1d Hifa |

6 2 1
0 4 8 5 2 5
5 3 6 3 4 7
1 4 3

32,

33.

34,

35.

36.

~ T~ | ™
(At S T A AN
{ A | ) + 1
S Dtk
2 13 /\30 (|5 / \-5 L ety
1 \L %\ 94 \\l L
(A) 7 @B -12  (© 12 O 9
I 40 32 72 12
M 30 24 54 9
m 54 2 90 15
(A) 49 (B) 46 € 48 D) 36
3 [ 10
(1 Jeo a][6 o4 1][3 [2] 3]
: : H
SEEEE —_

&5 90 ® 12 ©) 48 D) 16
Raviis walking in the East direction. After covering
a distance of one kilometer, he turns 45° left and
then 90° right. In which direction is he now ?

(A) North (B) North West

(& North East (D) West

e qd fem ¥ =@ @1 ¥ wF AL Fw Q@ T FA
% 1T 9 45° ST qgal ¢ AN w900 el qEar €1 3
w9 9% Ty fesn | 22

(A) I (B) I Ufv=H

© SWgE (D) ufe=H

Veena and Veeru both start from a point towards
North. Veena turns to left after walking 10 km. Veeru
turns to right after walking the same distance. Veena
waits for some time and then walks another 5 km.
Whereas Veeru walks only 3 km. They both then
return towards South and walk 15 km. How far is
Veena from Veeru?

(Ay 8km (B) 10km

(© 12km (D) 15km

ot &R e Il U T A S T # e uw
F 1 10 R Ta F Tr ad g2 e g
e off A E e F A A A I ¥ A 5w

\(" o
-2015/1335'5'6\'(l / @/ r\‘@';n \b Jr%/g
/\")/ /q/

A) 451 (@ 154 (©Q 702 (D) 535 B T et 51 B s Bt e,
- A 1% e 3 P o 1 fo A 2 <
Q? fen ¥ <red € R 15 6. wew ¥ oA @
‘éb foral g2 32
(A) 8 feR.H. ®) 10 fHH,
(efﬁgi ((g)) T © 12fH. (D) 15 f..
#\\ SPACE FOR ROUGH WORK / T @ & ford wme
‘F(\ o 2 \L”/"‘ﬂ/ yya W Ebyrs_awo
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Directions : |
statements 1
Assumptions,
to be true, eve
known facts
conclusions/.
the given stat

ﬁ'é'?T:W"H'
fom e i
faaR s g f
a1t weta 2 @
HA-T1 fafv=e
IS F T

37. Statem:
Assumyj
L No
II. Sor
(A) On
B) On
© Bo
O Ne

H
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Directions : In question number

s 37 and 38, one « fwi I8 atement: A good book e e tf costly s sold out in
statements is given followed by two 0N lill-,:'un‘e:\, "‘ - :f:l!ln::nl-' .
Assumptions, Fand 11 You h"""'"“”“'-J"“i'llu'ulah-nu-ni A _
t"h"tru""""‘nlf'n‘-l*l'ln'.h)lwi.tV,,,,,,,,“.“ i ,-.umpimnu
; . - om commonly I Some books are better than others
known facts. You are to decide which of the given I
C()HC‘!JSi()n‘u/;]<.l,lIl'ul!(i()ng(,,” d('ﬁ””"l\ be lh.u\‘””h.,”” I \”'."flllliI”if!l‘..l]i‘llkﬁ' V
the given statement. Indicate your answer. (O Pl IalTTIs
(B) Only H follows
fder - w1 wwen 37 3f 38§, ks & angen fom oy 2 () Neither Inor H follows
- . & A % . ! 3oy F ( ) ]
formrer s 1 famad /e, 1 sfe 1y foand o 80 s i) Bk Tandiiiction.. L
20 , - qEAT | U A A aiit B T ot 2 e |
faam w7 2 f& 7993 5 ¢ 9@ 92 9o s a1 i i § :I '
e e s 5 , aF A ¥
fort wefta 2 211 e fvi e 2 fan o gager i 9
F1-A1 ff7ad ®9 4 98 Frewd /g fanen g 2 " et 4
. . [ & T NEAF ST R AR A #
AT I A fafde Fifn L %9 IR i il fT il
L 7t et ek wa At 7
37.  Statements: No rod is pod. No pod is flexible. So (A) FHA g | e 2
Amisoptionn (B) a4 xrraw‘rufr'; i1 2 B
() A wr=al 1 #07 A # 11 Fwad 21
L HNoxedisflexdble (D) T=F 1 A0 11 2T frerdt 7
II. Some pods are flexible. 39.  Find out the number of circles in this figure :
z1 Afa | g4 F1 dqezn qa FfA
(A) Only inference I follows. . ~ - - —
.‘\ (’ -
(B) Only inference II follows. :
(©) Both of them follows.
(D) Neither of them follows. (C) 18 D) 16
i o . R ) 40.  In the question one part of the problem figure is
THAH : FI3 T2 FeAl G671 HIE el AATAl Tal subtracted. Select the option that shows the correct
£ shape after subtraction.
30 WA 4 99 AR %1 vE am wem e o 2
el
L & 2 A T 2 _
S Question figures /W97 mﬁﬂﬁ:
. F9 Ffaal a=rd £ _ -
: N - ¢
(A) Fad gral [ e €1 - -
. . Answer figures /34T aawfam” :
(B) FAe "Il 11 Faherd! & | ey, P — i
(©) < A=A el €1 N EL\] E
(D) Ml 4 A 1 A= 72 e | W e O
| / '
SPACE FOR ROUGH WORK / T %t % fera srmre
o
SS-2015/ Page5 3 7
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41. Directions : Two positions of a dice are shown below.
When three is at the top what number will be at the
bottom.

our . 9 U Wil w19 et quig v € oy

= e

®) 2 © 1 D) 4

Study the diagram and answer question number 42.

ST 1 SHEFT FT9Q S T9 HEAT 42 =1 I &I |

42.  The qualified and experienced doctors are working
in villages represented by ?

et § i fda ud Sqyvet stedl @ wfafafre

fRaT 2
i E Qualified doctors/

Experienced doctors/
ERCCIRCICEay
Doctors working in villages/
O Sy
@A) 2 ® 6 © 4 o 5

Directions : In question numbers 43 and 44. Identify the
diagram that best represents the relationship among classes
given below :

fS9r - 99T T 43 AR 44 |, T 3G 19 A€ S
frfafaa 4l & o= "eifas Fay 1 g e

43.  Christians, Catholics, Pope

e, Hhelfas, 99
|| @
(A) (B) © (D)

44.  Vegetables, Potatos, Eatables
Tfserai, arre], T e

P
©

® (L

o (@)

Directions : In question numbers 45 and 46, which answey
figure will complete the pattern in the question figure 2

frdor ¢ gy TEm 45 W 46 W, FHE-H IW AFT g
A fa F wfaed 1 qu H it ?
45.  Question figurc/ma'nq:‘ﬁ?

Answer figures /37T m 3

s VIO

*) (B) © ©)
46.  Question figure/ W9 3TTeh{d :
Answer figures /37T W $
a4 || A H =
() (B) © ®)

47.  From the given answer figures, select the one in
which the question figure is hidden/embedded ?

3 E I Tl § | 39 W i w1 gt faed
v 3mehRfa fafed £ 2

Question figure /Y97 3Mehid :
P

<7

X

Answer figures /3T mﬁﬂﬁ >

=y
ezl

()

SPACE FOR ROUGH WORK / 7% &Td & fod e

55-2015/Page6
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48. A picu‘
in the ¢
figures,

BIEECAE
FTeA qe
am?

Questic

49, If a mirr
the ansy
figure ?

Answe

A
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48. A piece of paper is folded and cut as shown below | 50. A word is rvpn'wnlvd by only one set of numbers as
in the question figures. From the given answer given in any one of the alternatives. The sets of
figures, indicate how it will appear when opened? numbers given in the alternatives are represented
. L o by two classes of alphabets as in twao matrices given
CIERC LRI hfqal | fCEy STTER TS @ HigEt below. The columns and rows of Matrix-I are
T AT G o a1e ¢ fhd It Thfq st fomand numbered from 0 to 4 and that of Matrix-II are
— numbered from 5109. A letler from these matrices
</ can be represented first by its row and next by its
) . column, e.g., “A” can be represented by 01, 14 etc,,
Question figure /T 3TH{d : and M can be represented by 56, 68 etc. Similarly,
you have to identify the set for the word "TEAGLE".
- U Vg el U HE-AYE g1 2901 T 7, S0
& fawedi W # fae v o feqn w0 21 fagadi g
Answer figures,/ ST JTERTaAl : fau Tu GEn-ayE SRl % @ 9l gm Awi T
S o A e T A serEl | 7 amegs-1 4 w1
0 %% el oXo o Vo iy Wi 1 HEen 0 949 @ E A1 sregeE- 1
""" E X e WB 5891 39 AR T UF AR 1 Tael 39 F1 i 1
¢ o] o] o} o e} e} " s - -
% olo o© oo} e § TP G gR1 ST S gkl 1 3eTE0 H
» " O fem - A %1 01, 14 37f ZR0 T <71 TwaT & a41 M AT
@) ®) © 56, 68 3T G ST <M1 Hehdll & | 38T q0E H ATTH
99 # e ¥ ‘EAGLE’ % fou o0z 1 7241 2 1
49. If a mirror is places on the line MN, then which of
the answer figures is the right image of the given
figure ? Matrix / 3{Tegg - [ Matrix / 3regg - 11
fz TF T FT MN TE W@ S A @ T W ajllals/s ARAESE AN
frt ¥ F- T T i 0O|P|A|G|R|Z 5|E/M|L|N]|O
2t 1|G|R|Z|P|A 6| LIE|O|M|N
' 21Z|P|A[G]|R 7I{O0|NJE|L|M
Question figure /W9 3T : 3|A|GIR|Z|P 8INJOIMIE|L
4 | R|IZ|P|A|G 9 M|L|N|O|E
M
@ (A) 55,14, 11,78, 66
N
- ~ - 7 7 /
Answer figures /30T 3TTeRTdAl : @y 99, 01, 44, 96, 77
% W @g (©) 88,22,31,89,76
(A B) © (0) By 66; 43,44, 75,58
SPACE FOR ROUGH WORK / T% & & ford wme
=l
ST My

55-2015/Page7
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PART - B / WM - @
GENERAL AWARENESS / €T STHeRRT

Reserve Bank of India was nationalised in

R 9% 1 U 39 9 gen

(A) 1947 (BY 1935 (L) 1951 D) 1949

NABARD stands for:

(A} Nattonal Business for Accounting and
Reviewing

(B) National Bureau for Air and Road Transport

(O Nattonal Bank tor Aeronautics and Radar
Development

(D National Bank for Agriculture and Rural
Development

A0S U EL(TEE) 596 O © ¢

(A) TS s W wERien e RfafE

(B) “YAE U HR TR 0 S TR

(©) e d% BR Ry wre R feaaude

(D) IS 9 B THea TE TS feaaqe

Economic profit or normal profit is the same as :
(A) netprofit (B) accounting profit

(O optimum profit (D) maximum profit

Srfels 1Y SIS QI 1Y 39 9§ o U 9
-

(A) &A™

(© Sk AN
Surplus budget is recommended during:
(A) War (B) Famines

(© Boom (D) Depression
T AN AT F9e H1 FEA w6l :
A) TS FEAF A (B) FH & <RH

(B) @I T A1H
(D) SAftRdH T4

(© S & IRE (D) Hel & RH

SIDBI stands for :

(A) Small Industries Developmental Banker
Institute

(B) Small Innovations Development Banker’s
Institution

(O Small Industries Designed Bank of India ‘
(D) Small Industries Development Bank of India

T, 3. E1. 1. 3T, 391 gaeh ©

(A) T T feaermie dt RIS
(B) TIE ZaYH feaaqie FHd TSR
(O T TeRN feurgs d% A e
(D) =E TR feaauie 3 3 §(0e

55-2015/Page9

56.

57

58.

What is popular sovereignty ?

(A) sovereignty of the head of state

{B) sovereignty of the pg‘oplc

(©) sovereignty of people’s representative

(D) sovereignty of the legal head
Sy W FR?

(A) T % ¥ &1 7

(B) STTAT T WY

(©) a1 & wiafafy &1 9

D) fafy 3id =1 Wy

What is ‘Reformation’ ?

(A) Change in attitude of man

(B) Revival of classical learning

(O Therevolt against authority of pope
(D) Rise of absolute monarchy
[UR=IEA 13 ?

(A) T8 & R TR | Iiad

(B) Taa==TcH® I 1 -390

(© 99 F W + faams fHEe

(D) TRH TSTH! 1 I

What is plural voting system ?

(A) Eligible voter exercises one vote and some voters
with specific qualifications cast more than one
vote.

(B) All the citizens caste three votes each.

(© Only the higher officials caste more than one
vote.

(D) Candidates themselves caste more than one
vote.

TSIy FATHR o R 7?2

(A) WfFA S T |12 30T 70 FS o e sy
X T W A G 2 ¥

(B) Wl AMRE 3reTm1-37em 919 ahe 27 ¥

(O Faa 3= i € uw @ atfue 9w 2y ¥

(D) eIl T T R afues A 3§

EXANIS27




59.

60.

61.

62.

63.

Votingis:

(A) The process by which voters exercise their right
tovote.

(B) The process of selecting representatives.

(O) The unit of area who constitute a unit for
electing representative.

(D) Universal adult franchise.

TR T WAL

(A) T fafs & 9o arer o | <F & sifysn
I AR

®) wiatfEl F <99 1 T WA e

(© W 9= T =t gfafafu & fau & =1 3% =1
AT FAAE |

(D) Te=a ure fagmaesn )

Constitutional Monarchy means :

(A) The king exercises power as granted by
constitution

(B) The king interprets the constitution

(©) The king writes the constitution

(D) The king is elected by the people

wfqurre T #1379

(A) Wi R WIS Wiferk o STTER U1 o g1 e
EaRpiul

(B) TSN g1 Hia"M il IRWIfod a1

(©) = gRI HiaY™ &l T LAl

(D) a1 gRI TS a1 AT ST

What is the currency of Saudi Arabia ?

(A) Pound (B) Dinar (C) Riyal (D) Lira
Tl Sfa = qE1 FE?
(A) T @®) TR (O fEm () fem

Who was the first Indian women president of the
United Nations General Assembly ?

(A) Sarojini Naidu

(B) Golda Mayer

(O Vijaya Lakshmi Pandit

(D) Marget Thatcher

T g TR 1 Ugell Higen WRATA A8 HH
of ?

(A) TR g

(B) el H

(© forstan west ufreq

(D) Wl &=

Bangladesh was created in :
ST <97 T TITY1 3T W g

(A) 1970 (®) 1971 (O 1972 (D) 1973

55-2015/Pagel0

64.

65.

66.

67.

BANK

EXAM

B %

Gandhiji’s’ Famous Quit India Movement call to the
British was given in: -

S % faru mESl #1 THG TR Srel $T<er #y
TR el G317
(A) 1940  (B) 1942 (C) 1941 (D) 1943
Who was the first speaker of the Lok-Sabha ?

(A) B.R. Ambedkar (B) G.V.Mavalankar
(O N.Sanjeev Reddy (D) Dr.S.P. Mukerjee
AT TIT F TT A4 #
(A) FT.AT. TeSHT

(© TH. HfEEEl

Choose the correct option which represents the

arrangement of atmospheric layers.

(A) Troposphere, Stratosphere, Mesosphere,
Ionosphere, Exosphere

(B) SiL.AEl. HACT=HT
(D) =T TA.. st

(B) Mesosphere, Ionosphere, Exosphere,
Troposphere, Stratosphere

(© Ionosphere, Exosphere, Mesosphere,
Stratosphere, Troposphere

(D) Exosphere, Troposphere, Ionosphere,

Mesosphere, Stratosphere

e IW MU S IEEvEa & WAl S HEasd

%1 T R

(A) TREdT AUSH, IHATY HUEH, HEE HUSH, 3719
HUSH qYT AT AUSA

(B) TEAEY HUSH, IE HUEH, IHAF HUSH, Uiaa
HUgel, HHAY HUSA

(Q) &I HUSH, STEd HUSH, HEAee] HUsd, THATY
Usd, Uiadd qusd

(D) 3TEEH HUSH, YREdA HUSH, STE HUSd, Heqey
HUEe, AT HISH

Which of the following is called the Light House of
the Mediterranean ?

(A) Vesuvius of Italy

(B) Stramboli of Sicily

(©) Mount Pelee of West Indies

(D) Paracutin of Mexico

frefafed & 9 f68 e 9 1 awre wrsw s
2

(A) zedt 1 fagfoam

(B) ToHe =1 Bt

(O = SIaE 1 Arse et

(D) #ferEer! =1 Trargfee

%y

68.

69.

70.

71.

SS-207



68, Which of the following options correctly explains
the term “heat budget’ ? '
(A) 1t is the amount of heat which the surface of
earth receives from the sun
(B) Itis the radiation from the earth in the form of
long waves
Q) Itisamode of transfer of heat threugh mattér
by molecular activity
(M) 31,:a‘:11@'."u‘m_‘.w1\“.\\11\11m\mm:\;;nminuf;znm;*_
frefafad faredl ¥ 8 w9 @ fawey a7 992 =
e = FIET 8 2
(A) TE a9 &1 9% TET € S gt g | 1w w5 3
(B) 4E geal i &l aim & w9 § 919 fafer &)
() T UF verd | gH gered § ary s ¥
(D) Fe @a fafem qun frig fafea =1 wgem &
69. Granite, quartzite areas have upstanding look
because:
(A) these rocks are not easily eroded
(B) these rocks are resistant to all kinds of erosion
(O noteasily worn down
(D) mechanically weathered faster
A2, FEAES 87 Wl Y YSiHid Ll § HifF
(A) T T2 1 fa9T ST § A6 gan
B) ¥ FH W THR & TREA F 9fq wfade §
(© T F et 7 ¥
(D) wifse 9 9 T 9 79afio gt §
70.  Theash-grey soils of high-latitude coniferous forests
are known as :
(A) Grey-Brownsoils
(B) Red and Yellow soils
(O Tundra soils
(D) Podsols
Ieg A9 F H1S F 99 HI TE A1 EL 7e7 39 M
(A) & U AT
(B) @e el Uid el
© =1
(D) HreHIeH
71.  Who of the following has given the term
rhizosphere :
(A) Hiltner (B) Garret
(O Alexopolus (D) None of the above
TEsfeR e frerfataa § 9 fae e an?
() feeem (B) T
(€ T (D) 3T ° FTE Tl
55-2015/Pagell

74.

78,

76.

77

1 ] yveffects 1s ki 3
he gene which exhibits multiple effectsa known

(A} Complementary (B) Pseudogene
() Pletotropic
F9 S |g waEl &l wa i

(1 PPols cene
FTAT € 98 FHedl ©
By TEIEA

(A) imardad
(D) T

© eI
Reverse transc ription was discovered by

(A) Beadle and Tatum

(B) Watson and Crick

() Temin and Baltimore

(D) Har Govind Khorana )

gfaast wfaferfa =1 @ fas g s ?

(A) wTEe qu1 22

(B) AT qU1 5

() 2fH3 gon AR

(D) efa=e g

Which of the following plant shows chloroplast
dimorphism ?

(A) Wheat (B) Rice

(©) Sugarcane (D) Sugarbeet
frefafad @ &6 | wey FANeE SEERiE
WEfid e B 2

) T B) A

© = O) T

An enzyme produced by HIV that allows the
integration of HIV DNA into the host cell's DNA
is:

(A) Ligase (B) Helicase

(©) DNA gyrase (D) Integrase

TH. 31541 G 30— U158 © A1 9] hivreredl &
LUAT F iR TAARAL F SUE F1 gui
FAE

(a) ferist

(©) BLUAL I

(B) T

X

(D) ==
Microbial degradation of nitrates into atmospheric
nitrogen is known as :
(A) Nitrification (B) Denitrification
(©) Ammonification (D) Putrefaction
AT AN kS T 1 gamsidiy
fae12 718 Feam

(B) famEdiaty

(A) TR 3
(ORELIERIERY D) Firam

The twa specific heats of gases are related by -
Tl & < fafore @ o g oHafg g .
(A) C +C,=R| B) C,~C, =R/
© Cp/C,=R A

EXAMS 527




78.

79.

80.

81.

82.

Burns caused by steam are much more severe than

those caused by boiling water because :

(A) Steam pierces through the pores of bodv quickly

(B) Temperature of steam is higher

() Steamis gas and engulfs the body quickly

(D) Steam has latent heat

I9T3 9l B S &1 ol ¥ 9 H FeAT dfvs

FeEEE () 2R ¢

(A) TR & 13 § Iofeud fogl g0 g st 4
EEMETECIGHES

(B) ST %1 a9 =ga AfaeF 21 €|

() 9T TF THER F 149 T 99 9T 1 F A0aE s
o Fdt B

(D) 9 ¥ T a9 e €

Which of the following particles has the dual nature

of particle-wave?

(A) Proton (B) Meson

(©) Neutron (D) Electron

frfafas &7 =ui § soim-wn =1 fgusfa

BRI

(A) W& (B) e

© = D) FeEH
Radioactivity was discovered by :

(A) Curie (B) BecQueral
(O Rautherford (D) Soddy
fedufia 1 ©< 39 g0 6 -

(A Fh (B) FPRE
O T=wE ©) T

Which of the following is in the ascending order of
Data hierarchy ?

(A) bit-byte-record - Field - Database - File

(B) byte - bit - File - record - Database - Field

(O) Field - byte - bit - Record - File - Database

(D) bit-byte - Field - record - File - Database
ffafaa 9 =M = SR e 1 AR wH § 2
(A) Tz - e - fTaTe - wiee - eeEd - Bisd

B) 32 - e - e - TS - 2w - wies

(©) Wies - a1 - fae - e - wigel - SREw

(D) T2 -ame - Fiee - THTE - W - ey

A computer executes programs in the sequence
of:

(A) Decode, Fetch, Execute.

(B) Execute, Fetch, Decode.

(O Fetch, Decode, Execute.

(D) Store, Fetch, Execute.
FPeT 30 %9 § YU i HoAfed Far e

(A) Srhie, T, TS

@) trsfe, ¥4, el

© =, e, TS
D) =R, &, TSR

$5-2015/ Pagel2
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84.

85.

86.

87.

88.

e metal 1on presentiny itamin B, 1s:

(A) nickel  (B) cobalt  (C) zin (D) iron
faaifigy =, , § FH | A Jqfeerd TEdi & ?
(A)- fiwer— (B) HEee  (©) fid®/ (D) =W
Which among the following is the sweetest sugar?
(A) lactose (B) maltose

(O) glucose (D) fructose

foreferfa § ®19 € T WS T E?

(A) TR (B) W2
() TR (D) HAHRTA

Muddy water is treated with alum in purification
proces's, itis termed as:

(A) adsorption (B) coagulation

(©) emulsification (D) absorption

Waﬁmﬁmuﬁmwwﬁﬁ

F § 77 wikd 0 FeAE! § 2
(A) fergior (B) ThH<THIT
(©) ZHTHER (D) STl

Ultra purification of a metal is done by :
(A) smelting (B) leaching
(©) zone melting (D) slagging

T 1 ST 395 g fHa S ¥

(A) Ffem @) it
(© s #Hfen (D) =ifan

Which one among the following industries is the
maximum consumer of water in India ?

(A) Engineering (B) Paper and Pulp
(C) Textile (D) Thermal power
e # fFreferfiad e e § we =1 avd go9
Afer 2t &2

() ARy AR 8) F e gon veg

(© FTEFEm (D) e TR

The layer of atmosphere close to the earth’s surface
is called :

(A) Exosphere (B) lonosphere

© Fitratosphere (D) Troposphere

el % FHTY W W A A et v o e
€7

(A) TFHERR

(B) AR
Q). R (D) ZriF

89.

90.

91.

92.

93.

94,

SS.-



-

89, Evergreen type Forests are found in
(A) Equatorial region
(B) Mansoon climatic area
(O Desertregion
(D) Mediterranean region
erFer {9 & 99 78 i 96 €
(A) YEE W& a9
(B) WY FAaaT 8
(© "E A
(D) YHEAYTRT 495 \
90"  Day and Night are equal at the
(A) Equator (B) Poles
((')' Prime Meridian (D) Antarctic
T8l W &R 991 U9 U §9E 1§
A yEEE ®) 4a
Q) 9@ IR (D) Siemhfaa
91, = Swaraj is my Birth Right and 1 shall have it. This
was advocated by :
(A) Lala Lajpat Rai (B) Lokmanya Tilak
(©) Mahatma Gandhi (D) Sardar Patel
@ 50 5 g AR § o § 3@ e & '
RERETERIII
(A) ST A9 TF (B) EAFH faas®
(C) HETE M (D) HER 9
927 Pulses are obtained from the family :
(A) Fungi (B) Liliaceae
(O) Cycadaceae (D) Leguminosae
T YT T IH FA A U Bl ©
(A) ®TH (B) ferered
© WEEHeEl (D)
3.  The One Rupee Note bears the signature of :
(A) Secretary, Ministry of Finance
(B) Governor, Reserve Bank of India
(© Finance Minister
(D) None of these
U 594 % A2 T fohaeh gier 21d & 7
(A) fom garera & afga &
B) fwd & wiw sfoean & Tai
©Q foa o
(D) T8 HE Tl
L. Which among the following is a folk dance of
India ?
(A) Manipuri (B) Garba
(O Kathakali (D) Mohiniattam
FrefefEa o w9 a1 IR dldTd €7
(A) AL (B) T
(©Q HgHe (D) HIfefEH
-2015/Pagel3

95,

96.

97.

98.

99.

100.

First Nobel Prize to India was given for
(A} Phyvsics (B |iterature
() Medicine (1M Chemistry

. 3711 170
WG ) Wery Are IR

kR 3 fana & T

a0
(A) ifda
sitafsy fesma

(R) HANEA
Q) (D) THFA 195711
Best way to conserve our water resources |

(A) Ram water harvesting
(B) Sustainable water utihzation
(() Encouragement of natural regeneration of

\'l‘}:i‘i.lll(ll‘l
(D) Allabove
STl HHTHA % HOE0 F T A7 TR E
(A) FYI & ST HT HIET
(B) AT STed IUAITA
(O) Wiepfas FA57fd 1 [IE3 &1 Wemfed Tl

(D) 374 F4l

The best milch breed in the world is:
(A) Chittagong (B) Deoni
(©) Holstein - Friesian (D) Sindhi

HR 1 Gy gied 75 ¢ -
(&) faem B) feairm
© e wrfaa (D) fosfi

Who initiated the movement to form the Indian
National Congress ?

(A) A.O.Hume (B) W.C.Bannerjee

(C) Annie Besant (D) Gandhiji

WRAT T 1" % T34 Hael aA<ied 1 fFa
YEAE H ?
(A) T3 EH
(© U e

(B) &l Hl. A
(D) TS

[n which year the Indian National Congress
formed ?

VI T Y 1 T3 30 a4 g2 o -

(A) 1835 (B) 1885 () 1901 (D) 1875

Raja Rammohan Roy was the founder of :
(A) AryaSamaj (B) Brahmo Samaj
(©) Ram Krishan Mission (D) Prarthna Samaj

Tk HETTF TS U9 HIgd 19 &
(A) & HHTS (B) i T
(© T frer (D) T T




PART - C / 9T -
QUANTITATIVE APTITUDE / uftamonetes aifusfe

3 1 105. If 4 men or 8 women can do a piece of work in
101. If 1 of a number is 7 more than s of the number, 15 davs, in how many days can 6 men and
12 women do the same piece of work ?
5 : mror o Fimprt Rl T 1 15 T H E
then ~ of the number is : afe 4 gb“i A4l 8 T’TZU TE“HI Flj’l 1 1:\\ F":ﬂ H EF(
: mﬁﬁﬁqmﬂnhmmﬁﬁﬂﬁﬁﬁh
. 3 X 1 . T HOHd © ?
Ife fodt 9= a1 1 I8 qE&1+ ‘(\ g 7 3y B, q (A) 45 dd\vﬁ/ﬁ:{ (B) 15 days/fa:{
5 (©) 30 days /T (D) 20 days/f
ImEEnE g € -
2 106. Ifthealtitude of an equilateral triangle is 1243 cm,
(A) 12 ®) 15 © 18 D) 20 then it's area would be :
Wﬂ@@ﬂ@ﬂﬁﬁﬁﬁﬂlﬂ&m%ﬁ
102. T;\ellseiast nun;ber which wheg di;ided bﬁ' 6,912, =TT S fehd T 8 2
15, caves t C ainder 2 ine ,is -
eav &'S e same remat T 2 1In each case, 1S (A) 72 cmz (B) 144\/5 sz
agwyma@mﬁﬂmﬁ@91zwﬂsﬁﬁmﬁm$ﬁ @ spJ5 60 ©) 12 cm?
R s T H YR 2 Tl R . ,
. 107. If the volume of a sphere is numerically equal to its
(A) 176 ® 178 © 180 D) 182 surface area, then its diameter is:
4 T T 1 S HE EU 9§ 3ER T8
103. i men an:i:l 96 women iompletelatw'orlé ‘iin 8 dfar):, AR W SUE 3 A1 S5 S 2.
2 men and 9 women also complete in 8 days. lhe
number of days 18 women complete the work: (&) 2em ) Fem © 4em ©) 6cm
& - 108. 5 persons will live in a tent. If each person requires
73 4 T 3t 6 ol forelt w8 fdl d R F 16 m? of floor area and 100 m? space for air then the
¥ 2 gy @i 9 foral 138 8 i mHE el @ height of the cone of smallest size to accommodate
% : ¥ hose persons would be:
18 et =g % & fread fell o Q@R 2 thiese p e ;
W 5 wfe w ¥ Wi 9 g =R #1e m?
3
@) 5L days/RA ® 52 days/fA et & A AT 3 fe 100 m F ST i ST
3 3 3 <1 37 =t 1 I ST 9 o faTT Aad SRR &
5 T vigp w1 g femartt 2 2
© 4= days/f&d D) 45 days/fed (A) 20m (B) 18.75m
3 (© 16m (D) 10.25m
109. Find asingle discount equivalent to a di t seri
104. A’s2 ?ays v}\lrork isiquag t((i) B's i’;hdayts work. {f :\ i;n of 10%, Zg% and 25%. FUIVEIENE 10 A iSCounS serey
complete the work in 8 days then to complete e B o .
work B will take: ;g; 20% ¥R 25% T2 *fE F T THA 2 W
|
szmmmslﬁaﬁﬁ%w:ﬁmﬁg (A) 55%  (B) 45% (@ 46% (D) 52%
s A ?;Hm F8RAT W LER 110. Anarticle which is marked atZ 975 is sold for ¥ 897.
e feat 5 g ? The % discount is :
(A) 14 days/f&T (®) 12 days/f& ;97;;03;; T Al Weh o 1 T 897 H S S
| €2 % e :
L, Q71 d?s/ﬁz 7 ©) 16 days/f&T A) 6% (B 8%  (Q 10% (D) 12%
+V¢/. 4% gg'ospACE FOR ROUGH WORK / & @14 & ol s %
N )«” g p
4 7{ L il T _ £\
% ~ - & yn
7z | *qw9(/ e L |

< A
A

N oS W

n§\l U‘}/Eé'ﬁ}z’“

2 AT Bis

111.

112.

113.

114.

115.

116.

[he differencel
followed by 3
marked price«
of the article 15
fordl a5 &

45% 39 91T |
a5 F1 s

(A) 200

If Aand B are
their squares
afe A SR B
81 %, dl A &I
(A) 15

What must be
that it may eq
2:5 3@ &
TE5:6 % U
(A) 65

The average
6 subjects is 8
found that th
was wrongly
average of the
ot forameff =
e ¥ 99T
37 I Terdl
TH Al 1 F
(A) 86

What is the a1
numbers ?

g9y 20 fguq-
(A) 17

Cost price of
of 60 books.

100 &I =

TR T @

(A) 66%



111.

I'he difference between successive discounts of 40,
followed by 30% and 45% followed by 20% on the
marked price of anarticle is¥12. The marked price
of the articleis :

fdt arg F ifdd 959 W 40% 395 71F 309 3k
45% I A8 20% HT ITTW T H 37a0T 123139

a5 F1 FHfhd o T
(C}/ T600 (1

(A) 2200 (B) T 400

If A and B are in the ratio 4 : 5 and the difference of
their squares is 81, what is the value of A ?

afe A B F1 UG 45 & 3R I7%F T &1 SR
81 % @ A F19M fFaa1 2
(A) 15 (B) 12

)) 800

112,

(@ 36 (D) 45

113. What mustbe added to each term of the ratio 2: 5so
thatit may equalto5:67?

2:5 FAIA & THE S H A1 el 9 ey faad
TE5: 6 % FUEL & 0 2
(A) 65 (B) 78

© 13 oy 12

114. The average marks obtained by a student in

6 subjects is 88. On subsequent verification it was
found that the marks obtained by him in a subject
was wrongly copied as 86 instead of 68. The correct
average of the marks obtained by himis :

Tt foremeft =1 6 fawdi & 9w U 3fHa 3 88 R
e § TeAqd F44 9 7€ Yal =i f O faug § sae
S I Terdt 9 68 F T W 86 fora fean man 3@
WTH i 1 TEl SHA €

(A) 86 (B) 87 © 85

What is the arithmetic mean of first 20 odd natural
numbers ?

g 20 foram wiepfash TEAel 1 HAG /A A 7
A) 17 ®B) 19 © 20 (D) 22

D) 84

115.

Cost price of 100 books is equal to the selling price
of 60 books. The gain or loss percentage will be :

100 TEhT T AT §o 60 Tkl 6 foerd qeq &
AL & o Aan g1 1 wfaeradn fehe i ?

116.

117.

118.

119.

120.

121.

122.

b”>
‘Zf \'\b

N
3 101" STV ﬁ '
i

In an examination, a student must ge o marks to

A student who gets 190 marks h)ii(-d by 35

marks. The total marks in that examination is :

fadt qhian § 3l 29 % foro s faened 1 36%

R ATA9 YIH H7 FIET | 190 376 UTH FT 916l Uh

fereneff 35 sl # et &1 A1 BH THEN F YUl €

(K) 450  (B) 500 (O 625 (D) 810

pass.

A train runs at an average speed of 75 km/hr. If the
distance to be covered is 1050 km, how long will the
train take to cover it ?

U Yermrel 75 T At wfd wer &1 aiwa wfa § =erd
€1 Afg 3/ 1050 fF AL #1 g @3 FEA T A A2 IH
T HI foha T9g § 99 F00 7

(A) 13 hrs/52 (B) 15 hrs/H2
(@ 14 hrs/ (D) 12 hrs/™e

o
I3
R &°

A train 180 mts long is running at a speed of
90 km/h. How long will it take to pass a post ?

T 180 TT. o=t Yamat 90 fer o, ufa =iz =1 fa 4
= W E | TF U " e § 98 fEaw gug o ?
(A) 7.8secs./H. (B) 8secs./H.

(@42 secs./ 4. (D) 8.2secs./H.

The certain sum will amount to 12,100 in 2 years
at 10% per annum of compound interest, interest
being compounded annually. The sum is:

s U forme = aifdes 9 9 wirer W g
10% Wid =¥ =rshefg =ms W 2 36t ¥ 212,100 &
) ag R
(A) T 10,000
(© 6,000

(B) T 8,000
D) % 12,000

O
\C\%,

o
If x =2 then the value of x>+ 27x> + 243x + 631 is )
ARG x=2 AW P +27x 2+ 243x + 631 F AR T :  \P°

(A) 1211 (B) 1231 1233 (D) 1321

-

i

If 5x + 9y =5 and 125x> + 7291% = 120 then the value 51'&/
of the product of xand y is :

Al 5x+9y =5 IR 1253+ 7293 =120 Tl x 3R y

i \
(A) 66% (B) 667% i VTl A 2.5
(A) 45 (B) 135 ct b
(Q/eb% D) 66%"0 © % O Y35 '3-—7,—1 y
3 !
Sed 4
qd 8 ,¥C  SPACEFOR ROUGH WORK / 7% %14 & ford s .Z' ~/,<£91
e gh ) -2 “"’/
e K, L = . '§3_ )X%
207V g1 e Y T, «4, ‘H*JT
SS5-2015/Pagel5 " g ?‘ KA BN Jtz,

_ b
()L’g/“ LW'\ 42w
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124.

125

126.

127.

128.

If x = ——— then (x+1)equalsto:

g v = —— A (x+1) TR T R?
V2 +1

(A) 2 B (2 + 1)

© (\-E - 1) (D) \"2

Among the equations x+2y+9=0; 5x—4=0;
2y —13=0; 2x - 3y =0, the equation of the straight
line passing through origin is :

AHTH IO x4 2y+9=0; 5x—4=0; 2y—13=0;
2x—3y=0H ¥ ga fag q oA 9w By W@ #;
THIF ©

(A) x+2y+9=0
© 5x-4=0

B) 2y-13=0
(D) 2x-3y=0

The HCFof ¥®—1and x¥*+2x3—2x—1is:
¥ —1 3 14+ 2132y —1 1 HETH THIISHS § :

(A) x—1 (B) xfﬂ
O x+1 D) x*+1
24 72
If X ! = 7 then the value of i, is:
£ 36
X X
afz X H i e
X B 'L
(A) 322 (BY343 (O 432 (D) 433

The area of the triangle formed by the graphs of the
equations x=0, 2x+3y=6and x +y=3is:
(A) 1sq.unit (B) 3sq.unit

1 1
© 4:2- sq. unit D) 1 5 Sq unit
x=0, 2x+3y=6 AN x+y=3 FHHO TR H
9 &1 &Fa €

(a) 137 gfe
1
& 4 71 gfe

B) 347 gfte
1
If p=99, then the value of p(p2 +3p +3) is :

R p=99 g p(p2+3p+3) FIHMA T
(A) 989898 (B) 998889

129,

130.

131.

132.

ot a

and f

It the number of vertices, edges and faces
rectangular }nll‘d”ﬂ]t‘pipcd are denoted by o, ¢
1'\‘.‘%}‘!\-L-li\'(‘l_\" the valueof (v —e-+f)is:

afg fareit waeifore THiat vZweTs & I, HRI T
ST =1 W@ R U o, ¢ 3R f W fAfde fEm
ST 2, A (0 <ok f) HIAMLE &
(A) 2 B) 0 O 1 O 4

If the measure of three angles of a triangle are in the
ratio 2:3: 5, then the triangle is :

(A) obtuse angled (B)
(©) equilateral (D) rightangled

isosceles

Afe fFd @ S TR RO FI AT 2:3:5 ATMAHE,
CUCEAERCH-S

(A) = (B) THfgag

(©) H9aTg (D) THHA

If the three angles of a triangle are (y + 15°),

(E + 6°)and (7—
5 3

(A) isosceles
(©) rightangled

+ 30 ) Then the triangle is :

(B) equilateral
(D) scalene

Hﬁwﬁ&ﬁ#aﬁm(wm,(%ﬁwo]aﬂ?
2x

ARG
(3 30}%’ T :

(A) gHfgeTg
(© THFF

(B) HHaTg
(D) forem =g

G is the centroid of AABC. The medians AD and BE
intersect at right angles. If the lengths of AD and BE
are 9 cm and 12 cm respectively; then the length of
AB (incm)is:

G, AABC &1 %<& §| WeTH AD 3R BE TH&TI
1 §fd=ss HTA € | ¢ AD 3R BE 1 o3 #AW:
9F . o 12 FM. ¥ A AB # @ (F. °)
frar 82

—

© 999999 (D) 988899 (A) 9.5 ®) 10 © 105 - @ 11
23\ ool SPACE FOR ROUGH WORK / T% Eﬁf % ferr m
e

g Lo 20 3

- 1 % © a
) o %S '
U c,\\m/or{/"\
DRAINN

°\";g\\
/o\,, 3
O\/y(é'h
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133. Internal bisectors of ZQ and /R of APOR intersect sech — tanB .

) 139. 1f5sin0 =23, the numerical value of ——— is
atO. If ZROQ = 96° then the value of RPQ is: sech + tan®
APQR & £Q AR LR F iafa fgwes 0 w e ssing—3 & @ Sect —tand o S T
T FE T IR LROQ =960 & ZRPO F1 . sech + tand
RIS 4

A) 6° (B) 12° 24° )} 36° | 1 1
o 3 i & @5 ® ©3 O3
134. If a person travels from a point L towards east for 4 2 3 2
12 km and t'hen trav E’h‘ 5 km towards north and | 140. Ifsech + tand = p, (p = 0) then sec is equal to:
;E’;a-zhes A PRIRLRS, then Shartestdisfance from L to 1S sech + tand = p.(pz0) B dl seco TR q 8?2
15 ©
Ife us =afed f5g L 8 9@ &t 3R 12 ff 1. ai fire fp=L) pzo ! ,+l #0
. . (A 4P~ J )1 B) 5|F /P
ST T AR 5 o1, A0 e @ 39 foig MR * “ B
,AMLAM S : 1 1
% Wﬁ% (Q) p-f-—,piﬂ (D) pf__,P;tO
(A) 12km/f& . (B) 13 km/f& . p p
© 14km/fEHL (D) 17 km/f&. 7. 141. If 0 be acute angle and tan(46 — 50°) = cot(50° — 6),
135. Let C; and C, be the inscribed and circumscribed ten.hevaiung ‘H) 5 degrees_lsoz _ 5
circles of a triangle with sides 3 cm, 4 cm and 5 cm. %ﬁmﬂ ETHIT € AR tan(46 —50°) = cot(50° - 6) 2
HOFTAAE :
areaof Cy . _
mi is : (A) 20 (B) 30 (© 40 D) 50
oA o 6 ¢ 3R C, T Y % ofa. 99 iR uftgm € | 142, Ifthe sum and difference of two angles are 29—2 radian
TS 3 WAL, 4 WAL AR5 FA R @ and 36° respectively, then the value of smaller angle
Cl w1 A g in degree taking the value of was =2 is:
C, 1 &Fwa 7
16 4 9 9 7fe St HIVi &1 M A 3aT FHI: %“{%ﬂ?ﬁ{%"
@ % ®3x ©Ox OF
IS S 22 .
136. If D, E and F are the midpoints of BC, CA and AB & SR A T A = TR e g
respectively of AABC then the ratio of area of the .
: Ffe A AT
arallelogram DEFB and area of the trapezium B ’ e .
e (A) 48 ®) 52 © 56 D) 60
g AABC % BC, CA 3R AB F sl 7 fag D, E | 143.  Akiteis flyingat the height of 75 m from the ground.
3iF € o gwiaR aﬂﬂﬁl DEFB éF SEREIEIELE The string makes an angle 6 (where coth = i)
CAFD % &9hd 1 3T{Ud 1€ ? _ _ 15
A) 2:3 B) 1:3 © 3:4 D) 1:2 ;\lf;ﬂ]l(t_he level grou?d,l ASSEmmg that| the-re is no
o . 20 ckin the string, the length of the string is equal
137. The minimum value of 2sin?6 +3cos°0 is : to
2sin?0 + 3cos2 T Z[ATH HH ¥ : TE A qf § 75 WL F] IO W 3T R
a) 1 B) 2 © 3 D) 4 SEHT X1 40 F WA o FT FU a9 w o
138. The value of sin?22° + sin68° +cot*30° is : : 8 4 e
coth = — & | 7A & & S |
Sin?22° + sin268° +cot?30° T A ¢ : (Wﬁ 15 ] & &I T
5 3 D) 3 ® @ =M1 F o fwa £2
A 7 M(B) 4 © 3 ‘ (A) 8B5m (B 75m  (O) 40m (D) 65m
SPACE FOR ROUGH WORK / T & & fordt smme 2y
ST Vvs&o
L w)é/o,c \/0}7j L by e TERE
a/"/ ) < N T S LY
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Directions : (

lavers i tw mnmges. Stuav ti 1ram and
inswer the questions no. 144 to 147
v 3 113 fei =1 21 oifdl & =R =57 @3 an mE |
taay g & NE 1 [ &1 3T 953 o9 144 1 147

T

N . l
)

MAHENDRA VIRAT CHETESWAR SHIKHAR

SINGH  KOHLI  PUJARA  DHAWAN

DHON] -

TeEfir fae R LRET forar
CIEi| ARG REIn BEE|

144.  The average run of two innings of the player who
scored highest in average is :
A EE
(A) 75 AXB) 70 © 80 (D) 85
145.  The average run in two innings of the player who
has scored minimum at the second innings is :
T 9R § HeH W TR W S0 a0 fgerd
T WfE & ST T E )
(A) 60 (B) 50 (€40 D) 30
146. The total scores in the first innings contributed by
the four players is:

Teell W § =R faertedi g faae s o g

i :
@ 210

(A) 190  (B) 200 (D) 220

147. Theaverage score in second innings contributed by
the four players is :

TE U F 9 faetedl #1 ofthd whe

(4) 30 B) 40 © 50 D) 60

l‘i!{‘\“llll- I NE PIe \‘:\:'!-,‘.:.!5“1- ! $ t
WUTT by nlv on 1 iem wd
tud i y T \ th 1 { 1t ]
148 to 150 i | art
f;{,‘;}}-T T T I a1 AT5] T F I
] £ SRR B SRR 3R
a7 T I 1fEa 148 & 150 b | bl { |

\ ™

\ Education

\  Toam

| \ h
| ].U\‘\l \ \.\ |
1 e | 70

< A
I 1“ [\~ \ A0
<UL

\ |
Others | |
sl
—

4 60°

/
Savings ‘
,] riﬂ |

148.  The ratio of expenditure on food to savingsis:
WIS @9 3R T4 T 310

(A)3:1 @B 3:2 (@21 (D) 10:9

149.  If the expenditure on education is T 1600 more than
that of housing then the expenditure on food
is

ﬁ&wwaﬂwaﬁﬁ?mouﬁw%a‘nﬁm
G d ¥ .

(@& T 12,000

(@ 3,333

B) 2 6,000
D) % 7,000

150. If the monthly income is ¥ 36,000 the
savings is :

aﬁmmmh,ooo%?haﬁam%:

(Aq\? 60,000
(© T 74,000

(B) % 70,000
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PART - D
ENGLISH COMPREHENSION

Directions : In questions number 151 to 155, some parts of
the sentences have errors and some are correct. Find out
which part of a sentence has an error and blacken the oval
[ @ ] corresponding to the appropriate letter (A, B, C). If a
sentence is free from error, blacken the oval corresponding
to (D) in the Answer Sheet.

He can be /a basketball plaver since /
(A) (B)

151.

he s tall like a mule. / Noerror
(© (D)

Just outside my house / are a playground /

(A) (B)

152.

for school, boys and girls. / No error
© (D)

Who / do you think / I met ? / No error
(A) (B) © (D)

153.

It is not advisable / to take heavy luggages /
(A) (B)

154.

while on ajourney. / No error
©) D)

A bird in the tree /is worth / two in the bush. /
(A) (B) (©)

155.

Noerror
(D)
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Directions : In questions number 156 to 160, sentenceg
given with blanks to be filled in with an appropriate
word(s). Four alternatives are suggested for each question,
Choose the correct alternative out of the four and indicate
it by blackening the appropriate oval [ @] inthe Answer
Sheet.

156. When the morning
discovered.

the murder was

(B) happened

(A) occured

(©) came (D) arrived
157. The appearance of the city day by day.
(A) had changed (B) could change
(© changed (D) is changing
158. The smell of the sea called memories of
her childhood.
(A) on (B) up (© back (D) for
159. The police fired on the mob when they
(A) fizzled out (B) turned violent
(O became abusive (D) turned noisy
160. He has the full facts but is deliberately
hiding them.

(B) in his sleeves
(D) upon his sleeves

(A) up his sleeves
(©) under his sleeves

Directions : In question numbers 161 to 163, out of the four
alternatives, choose the one which best expresses the
meaning of the given word and mark it in the Answer Sheet.

161. BOARD

(A) Lodging (B) Frame

(©) Furniture (D) Food
162. SPUME

(A) Spit (B) Poison (C) Foam (D) Lava
163. PERUSE

(A) Read (B) Reduce

(O Argue (D) Follow
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Directions : In questions number 164 to 166, choose the
word opposite iInmeaning to the given word and mark it
inthe Answer Sheet.
164. VACILLATION

(A) remorse B) relief

(©) inoculation (D) steadfastness

165. EFFEMINACY

(A) Aggressiveness (B) Attractiveness
(©) Manliness (D) Boorishness
166. PLACID
(A) dull (B) urgent
(© moving (D) stormy
Directions : In questions number 167 to 171, four

alternatives are given for the Idiom\ Phrase underlined in
the sentence. Choose the alternative which best expresses
the meaning of the Idiom\ Phrase and mark it in the Answer
Sheet.
167. Instead of keeping his promise of helping me with

office work, he just left me high and dry.

(A) left me without a drop of water

(B) left me alone to do the work

(O left me feeling like a fool

(D) left me in a state of anger

168. Unless you make amends for the loss, nobody is
prepared to excuse you.
(A) pay debt
(C) compensate

(B) confess
(D) improve

169. Before the report reached the authority the media

spilled the beans.
(A) spilled the contents of the package

(B) dropped the charges
(©) revealed the secret information
(D) hinted at the consequences

170.  His friend turned out to be a snake in the grass.
(A) cowardly and brutal
(B) an unreliable and deceitful person
(© ahidden enemy
(D) low and mean

171, Amit said to Rekha, “Don’t make a mountain out of
amolehill.”
(A) create problems
(B) exaggerate a minor problem
(©) attempt an impossible task
(D) startlooking for molehills in mountains
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Directions : In questions number 172 to 181, a sentence/a
part of the sentence is underhned. Below are given
alternatives to the underlined partat (A), (B), (C) which
may improve the sentence. Choose the correct alternative.
Incase no improvement is needed your answeris (D). Mark
your answer in the Answer Sheet
172.  She could not help but laugh.

(A) laughing (B) butlaughing

(©) laughter (D) noimprovement
173. We molymlonlay,h‘_xyuzil\gx_?

(A) didn’twe? (B) hadn’twe?

(©) isntit? (D) noimprovement

174. 1 took my mother some grapes when she was in
hospital.

(A) Ibrought my mother some grapes
(B) Ttooksome grapes for my mother
(©) Ttook for my mother some grapes
(D) noimprovement

175. The world is being faced with a crisis.
(A) confronted (B) facing

(© infrontof (D) noimprovement

176. Both the teams plaved the game fairly.

(A) fairly played the game
(B) played fairly the game
(© played afair game

(D) noimprovement

177. The others shook their heads and made vague noises

of approval.
(A) turned around (B) nodded
(© hung (D) noimprovement

178. IfIwill getan opportunity, Ishall attend the seminar.
(A) shall get (B) got
©) get (D) noimprovement

179. He does not laugh, nor he smiles.
(A) nor he does smile
(B) neither he does smile
(© nor does he smile

(D) noimprovement
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180. She insisted on she was innocent.
(A) insisted on that (B) insisted that
(©) insisted with (D) noimprovement
181. You must endure what you cannot cure.

(B) accept

(A) prevail
(D) noimprovement

(©) suffer

Directions : In questions number 182 to 188, out of the four
alternatives, choose the one which can be substituted for
the given words/sentences and indicate it by blackening
the appropriate oval | @ | in the Answer Sheet.
182. One who runs away from justice or the law.

(A) Fugitive (B) Criminal

(©) Thief (D) Smuggler

183.  One who is too careless to plan for the future.
(A) imprudent (B) improvident
(©) impractical (D) impotent

184. A person who deserves all praise:
(A) detestable (B) lovable
(©) despicable (D) laudable

185. Of one’s own free will :
(A) obligatory
(O voluntary

(B) compulsory
(D) mandatory

186. A study of ancient things :

(A) Archaeology (B) Ethnology

(© Physiology (D) Zoology
187.  One who is skillful.

(A) diligent (B) different

(© disciplined (D) dexterous
188.  One who has long experience.
(A) novice (B) expert
(Q) practitioner (D) veteran

Directions : In questions number 189 to 190, four words
are given in each question, out of which only one word is
correctly spelt. Find the correctly spelt word and mark
your answer in the Answer Sheet.

189. (A) circumlocution (B) circmlocution
(©) circumlocation (D) circumlocutien
190. (A) Diffussion (B) Diffusion
(©) Defusion (D) Deffusion
55-2015/ Page22

Directions : In questions number 191 to 200, you have twg
passages with 5 questions following eac h passage. Read
the passages carefully and choose the best answer to each
question out of the four alternatives and mark it by
blackening the appropriate oval | @®]in the Answer Sheet,
PASSAGE-I (Questions number 191-195)

Journalists argue over functions of a newspaper. |
feelthata provincial paper’s purpose is not only to present
and project the news objectively and imaginativ%‘ly, but to
help its readers to express themselves more effectively,
canalizing their aspirations, making more articulate their
demands. A newspaper should reflect the community it
serves-warts and all. When the mirror is held to society it
reveals neglect, injustice, ignorance or complacency. It
should help to eradicate them. It would be pretentious to
think that a newspaper can change the course of world
affairs - but at the local limit it can exert influence, it can
probe, it can help get things done. The individual’s voice
must not be stifled. Instead, the readers should be
encouraged to express their opinions, fears, hopes and or
their grievances on this platform.

191.  What is the main purpose of a newspaper ?
(A) To present facts in a blunt way
(B) Encourage the readers to be pretentious
(©) Project news objectively and imaginatively
(D) Exertinfluences on the individuals
192.  In this passage the writer highlights the fact that -
(A) Newspapers can eradicate injustice
(B) Journalists differ in their opinion on the
function of a newspaper

(© A newspaper should reflect the community it
serves

(D) A newspaper should only concentrate on local
affairs

193. How can a newspaper influence local affairs ?

(A) By influencing public opinion through half
truths.

(B) By focusing on world affairs.

(© By probing into the ills of society and rallying
support for change.

(D) By encouraging the readers to accept their
grievances.

How can the readers air their grievances ?
(A) By writing to their local newspaper.
(B) By writing to journalists.

(© By supporting the local newspaper.
(D) By being complacent.

194.

195. Theexpression ‘wartsa
(A) thereader’s grieva
(B) thecommunity’s p
(O hopes and fears

(D) with no attempt
inadequacies

PASSAGE-1II (Questions nu

True, it is the function «
and order in abnormal times.
another force that compels citi
with due regard to the right:
protects the lives and propertie
are made to secure the persona
prevent murder and crimes of
secure the property of the citize
and to protect the rights of com
out their customs and ceremo
conflict with the rights of other
his own free will, obeys these
everything he does is done wi
and well-being of others.

But the bad citizenison/
these laws by fear of the conse
the necessary steps to compel
good citizen are taken by this |
of law and order in a state is
who is responsible to the State
the Inspector General of Police

196. Which of the following:
the passage ?
(A) Law protects those

(B) Law ensures peo|
rights absolutely a1

(O A criminalis deterr
only for fear of the

(D) The forces of law he
citizens into respot

197. According to the writer

is not the responsibility
(A) To protect the priv
G

(O To ensure pea
safeguarding indi'

To check violent as

(D) To maintain pea
circumstances.
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PASSAGE - TH{Questions number 19-200)

I'rue, it s the tunction of the army to maintam law

gd order in abnormal times, But i normal times there i«
Q thereas

aaother toree that compels citizens to obey laws and to act

with Jdue repard to the rights of others. The torce also
peptotects the livesand properties of Law abiding men. 1aws
ate made to secure the personal satety of its sulyects and to

prevent murderand crimes of violence. They are made (o
sectire the property ot the citizens agamnst thett and damage
and to protect the rights of communities and castes to carry

eyt their customs and ceremonies., so long as they do not
contlict with the nghts of others. Now the pood citizen, ol
his own tree will, obeys these Taws and he takes care that
everything he does s done with due regard to the riphis
and well-being of others

But the bad citizen is only restrained from breaking,

these laws by fear of the consequence ot his actions. And
the necessary steps to compel the bad citizen to act as a
good citizen are taken by this torce, The supreme control
of law and order ina state is in the hands ot a Minister
who is responsible to the State Assembly and acts through
the Inspector General of Police,

196.

197.

Which of the following statements is not implied in
the passage ?

(A) Law protects those who respect it

(B) Law ensures people’s religious and social
rights absolutely and unconditionally.

() Acriminal is deterred from committing crimes
only for fear of the law.

(D) The forces of law help Lo transformyirresponsible
citizens into responsible ones,

According Lo the writer, which one of the following,
is not the responsibility of the police ?

(A) To protect the privileges of all citizens
(B) Tocheck violent activities of cilizens,

(©) To ensure peace
safeguarding individual rights.

among  citizens by

(1) To maintain peace during extra ordinary
crcumstances.
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198,

199,

200,

s and ceremonies means

lhi'l‘\i‘:;"-"l\\u vitstt
) -
() Farrs and testivats

B Habuts and tradiions

) Usual practices and religious rites

{1 “11{‘\"‘\11“\‘1]'.‘,l!hl formalibees

Which one ol the tollow 10y wlatemends s ][nl.‘lll‘\i mn

||\l‘ }‘-'l‘a‘-.'ll'.“l\ ?

i\

Peacetul citizens seldom violate the faw
Y Criminals, who tlout the laware seldom

l‘lt\ll?‘lhl 1o book

() The police hardhy suceeed i converting bad
citizens o good ones
UM The ]‘Ull\t‘l'hl‘t k the citizens, whethen they are

good or bad, from violating the law

“They are made to secure the property of atizens
against thett and damage”, means that the Law

(A Helps i recovering the stolen property of the
cilizens

(B Assists the citizens whose property has been
stolen or destroyved.

Initiates process against offenders of Jaw,

Salepuards people’s possessions against being,
stolenorlost,

~0lo-

EXAMS 527




	SSC CGL 2015 (16082015).pdf (p.1-15)
	PART 2 SSC CGL 2015 (16082015).pdf (p.16-20)

